
Corrigé

Équations différentielles
Vérifier qu’une fonction donnée est solution d’une équation

différentielle

Exercice 1.

1. f1(x) = ex , équation : y ′ = y

f ′
1(x) = ex et f1(x) = ex ⇒ f ′

1(x) = f1(x) ⇒ vérifiée

2. f2(x) = 3e2x , équation : y ′ = 2y

f ′
2(x) = 6e2x , 2 f2(x) = 2×3e2x = 6e2x ⇒ vérifiée

3. f3(x) =−5e−3x , équation : y ′ =−3y

f ′
3(x) = 15e−3x , −3 f3(x) =−3× (−5e−3x) = 15e−3x ⇒ vérifiée

4. f4(x) = 2ex +1, équation : y ′ = y −1

f ′
4(x) = 2ex , f4(x)−1 = (2ex +1)−1 = 2ex ⇒ vérifiée

5. f5(x) =−3e−2x +4, équation : y ′ =−2y +8

f ′
5(x) = 6e−2x , −2 f5(x)+8 =−2(−3e−2x +4)+8 = 6e−2x ⇒ vérifiée

6. f6(x) = 1

2
e4x −3, équation : y ′ = 4y +12

f ′
6(x) = 2e4x , 4 f6(x)+12 = 4

(
1

2
e4x −3

)
+12 = 2e4x ⇒ vérifiée

7. f7(x) =Ce5x − 2

5
, équation : y ′ = 5y +2

f ′
7(x) = 5Ce5x , 5 f7(x)+2 = 5(Ce5x − 2

5)+2 = 5Ce5x ⇒ vérifiée

8. f8(x) =−20e5x −2, équation : y ′−5y = 10

f ′
8(x) =−100e5x , 5 f8(x) = 5(−20e5x −2) =−100e5x −10

y ′−5y =−100e5x − (−100e5x −10) = 10 ⇒ vérifiée
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9. f9(x) =p
2e10x +1, équation : y ′+10 = 10y

f ′
9(x) = 10

p
2e10x , 10 f9(x) = 10(

p
2e10x +1) = 10

p
2e10x +10

f ′
9(x)+10 = 10

p
2e10x +10 = 10 f9(x) ⇒ vérifiée

10. f10(x) = 3πe−7x −3, équation : y ′+7y +21 = 0

f ′
10(x) =−21πe−7x , 7 f10(x) = 7(3πe−7x −3) = 21πe−7x −21

f ′
10(x)+7 f10(x)+21 =−21πe−7x +21πe−7x −21+21 = 0 ⇒ vérifiée

Exercice 2.

f1(x) = e3x est solution de y ′ = 3y

f2(x) = 2e−x est solution de y ′ =−y

f3(x) =−4e5x est solution de y ′ = 5y

f4(x) = e2x +3 est solution de y ′ = 2y −6

f5(x) =−1

3
e−4x +5 est solution de y ′ =−4y +20

f6(x) =Ce6x −2, avec C ∈R est solution de y ′ = 6y +12

f7(x) =−10e7x −4 est solution de y ′−7y = 28

f8(x) = 3e−2x +1 est solution de y ′+2y = 2

f9(x) =p
3e8x +2 est solution de y ′−8y =−16

f10(x) = 5πe−6x −3 est solution de y ′+6y =−18
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